
ITEM 1

CARRIAGE BOLT - 3/8-16 x 1.25"

QTY: 6 PER ASM

ITEM 2

WASHER - 3/8, GRD 5, SAE

QTY: 6 PER ASM

ITEM 3

NYLON LOCK NUT 

3/8-16, GRD 5

QTY: 6 PER ASM

POWER BRACES

S130 - 280ZX

S130 - 280ZX

S130 - 280ZX

S130 - 280ZX

POWER BRACES

ITEM 3

NYLON LOCK NUT 

3/8-16, GRD 5

QTY: 6 PER ASM

ITEM 2

WASHER - 3/8, GRD 5, SAE

QTY: 6 PER ASM

ITEM 1

CARRIAGE BOLT - 3/8-16 x 1.25"

QTY: 6 PER ASM

POWER BRACES

ITEM 3

NYLON LOCK NUT 

3/8-16, GRD 5

QTY: 6 PER ASM

ITEM 2

WASHER - 3/8, GRD 5, SAE

QTY: 6 PER ASM

ITEM 1

CARRIAGE BOLT - 3/8-16 x 1.25"

QTY: 6 PER ASM

POWER BRACES

ITEM 3

NYLON LOCK NUT 

3/8-16, GRD 5

QTY: 6 PER ASM

ITEM 2

WASHER - 3/8, GRD 5, SAE

QTY: 6 PER ASM

ITEM 1

CARRIAGE BOLT - 3/8-16 x 1.25"

QTY: 6 PER ASM


